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Psychology

Paper II

HAEIMHA
QoateRt 11

Time Allowed : 120 Minutes]
: This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U 3TRA. W UEA dredl

: I YETUAR TS THU TN (100) TgIART Y9 ol sed. Yoo WeAen g (2)

................... is the idea that the
characteristic of a person or group
are significantly influenced by
biological factors and are therefore
largely similar in all human cultures
and historical period.

(A) Metaphysical essentialism
(B) Essentialism

(C) Psychological essentialism
(D) Classical essentialism

Compared to speed test, a
distinguishing feature of power test
1S tevvrriireeeeenns .

(A) Overall difficulty level of the
test is very high

(B) Test takers are penalized for
wrong answers

(C) Number of test items are more
than the speed test

(D) Reverse scoring procedure is
used in calculating the final
score

1.

IS AT HHEIE! T[RRI Siferh

eehies YW BIad FeU[E o Sgarel
Td AWt FEhdWE) 9 Uaelideh e
A oy 3drd = foameamg 39
TRUIdrd.

(A) TfeHifqe STevaRdETR

(B) ATRIRAER

(C) HFERTSIE 3TEvIeharale

(D) IS STEvIehaETg

T ArEOTe dod, e A=t

EIN IS BRI

(A) FAHTEROTIE SrEviE! fersedr drdel
3fd =3 o9d

(B) TehI=A1 IUUHIS! qReeAt= o7 =1
B

(C) Tdl =r=avitea ged ==l 9w
SAfYeh  STHdr

(D) 3ifqH T[T Aisiaeed! Tt Tomm=
Tl ST A

[P.T.O.



The calculation of mental age
basically involves :

(A) Procedure and logic of
developmental norms

(B) Procedure and logic of within
group norms

(C) Comparison of gradewise
performance variation

(D) Comparison of gender
differences on an item in a test

Resting membrane potential is :
(A) 70 mV

(B) 85 mV
(C) =710 mV
(D) -85 mV

According to Yerkes-Dodson law
................... is an inverted U-shaped
function of arousal, with the optimal
.................... level being lower the
more difficult tasks.

(A) Motivation; arousal
(B) Performance; vigilance
(C) Arousal; performance
(D) Performance; arousal

In the Wason selection task for
propositional reasoning, ‘partici-
pants develop a general idea of the
rule, then construct examples
that follow the rule’ is referred to
as :

(A) Confirmation bias

(B) Representativeness bias
(C) Construction bias

(D) Mental fixation bias
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AHeh A J199 A1 IEAr AT

YR Bad

(A) TIhraTcHs AR 9Gd o e
qh

(B) THgHMe Ugdl 9 HHid qoh

(C) SONER el QA= o

(D) =mEvidia T fagmeda famagreT
e

fasa veat favye sae 9d :

(A) 70 mV
(B) 85 mV
(C) =70 mV
(D) -85 mV
FehH-Sfedd FmgaR fame

U 3ThR SRS il 3R, a8 hAd

................... L{ldoé'\l, F‘“—"i d{{-{c‘lﬁ'{chléjw

3TEEE T

(A) UM, SIPROT

(B) whr&rHar, q&r

(C) SIFRUI, e

(D) &, SFRO

997 TacleR™ SRt gexi=a qehid,
Fearar EETE gEEER Seu
fosrfaa shat, TR o™ 9o HOR
3CTEXU TIR el &Il T ol 318 2
(A) TR qae

(B) wfaffae gatue

(C) W= qag

(D) wHfae frufor gafre




Which among the following is not
a viewpoint of Festinger’s theory of
interpersonal attraction ?

(I) People compare their abilities
and beliefs with others.

(IT) People organize their likes and
dislikes in a symmetrical way.

(ITII) People believe the only way to
evaluate the accuracy of your
view in normality.

Codes :

(A) Only (I)

(B) Only (II)

(C) Only (III)

(D) Both (I) and (III)

Which of the following is correct
alternative for the “Assertion and
Reasoning” statements ?

Assertion (A) :Goal setting is most
successful when

people receive
feedback on their
progress.

Reason (R) : When people are
truly and deeply
committed to
reaching them.

Codes :

(A) (A) and (R) both are true and
(R) is the correct explanation
for (A)

(B) (A) and (R) both are true but
(R) 1is not the correct
explanation for (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

JUN - 13220/1I—A

hiES=a Tatd aferder  SATRS U=
AN A ~ TSN
GeAeTush! Il gitehE Er ?

() SAUSISR ofich =l &Adl St
A= Gl HI.

(1) Fﬁes "v'mﬁ:?ﬁ AT A=A
\‘HIOISI I"IOISI‘C{ @Hb{d"l ch {dld.

(III)‘;HlHlvqlqbd-u AGAAT  ATIAT
SEIRGER A IR e C i I o

HAET AT SR AR s favend
Sadrd.

i

(A) T (D)

(B) % (1D)

(C) e (IID)
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BIG]
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10.

11.

12.

How many disabilities are

represented in RPWD Act ?
(A) 9
(B) 13
(C) 17
D) 21

Flashbacks are experienced typically
by patients who have abused this
drug :

(A) Nicotine
(B) Caffeine
(C) Alcohol
(D) LSD

........................ is the study of nature
of knowledge, justification and
rationality of belief.

(A) Etymology
(B) Epistemology
(C) Pragmatism
(D) Philosophy

“Norms are the average performance

of standardized sample”. This
statement is true for which type of
tests ?

(I) Personality test
(II) Aptitude test

(ITI) Achievement test
Codes :

(A) (I) only

(B) (II) only

(C) (II) and (III) only

(D) (I), (II) and (IIT)

10.

11.

12.

JUN - 13220/11—A
IRUTEsgS! wrEcaHed fohdl sTamd
gfaHfae s Sd ?
(A) 9
(B) 13
(C) 17
D) 21
T T T STHC UeIUe ST Sed
Hel 3R, <l fovieere ¢ weeee
=0 VS A
(A) frrEA
(B) &®H
(C) "=

D) TATHEL
...................... _6-[ 5”'_”.“‘“ *O'{C\L“'C“ WW
9 foamdiar difshera=n 319319 3R ?

(A) HcIfeme
(B) ATRMEHA
(C) WadR

(D) dcaR

e T TSROl T SRIERT i
2T ¥ IR FIUH Sl e
TR 3 ?

(1) SR ==l
(I1) SAfqerHar ==l
(I11) §9RA  =r=roft
Tehdiah :

(A) ®sd (D)

(B) waa (1)

(C) waa (ID) awfor (I10)
D) (D), A1 sfor (I1D)




13.

14.

15.

Which among the following is the
chief inhibiting neurotransmitter ?

(A) GABA

(B) Glutamate
(C) Noradrenaline
(D) Dopamine

The results are not depending on the
sensitivity of the observer alone, but
also on the decision criteria used by
the subject. This is a key assumption
[0) FUUUURR method/model.

(A) Method of Error

(B) Fast-Guess model

(C) Deadline model

(D) Signal detection method

Which of the following is not true
of Divergent thinking (DT) ?

(A) DT test scores have often failed
to correlate with plausible
indices of creative achievement
and behavior

(B) Binet’s measures like “Sentence
Invention” and “Ink Blots” are

examples of DT tests

(C) DT has failed to predict

creativity

(D) Wallach and Kogan developed
DT tests

13.

14.

15.
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TTefterdent v geef qea fem
RIS A Sl ?

(A) e

(B) Te[E™e
(C) -IREEARAH
(D) SMHEH

fertl & ek FOaToTshei=1 SeaTHder
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(C) Aft® ¥ wrEd
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(S13.) ¥ - ?

(A) S1.3. ==t 9T agdeh dadl
T 9 ST S Heed
fademeft Teier SavaTd STEvREl
3.

(B) ‘Tt oo’ et ¢ 5o sate
TR Tt AmaE 13 9=
IR SR

(C) St3. FSieficrar Jeleh o shivama
ST 3T

(D) TR 3T A S1L.3. HaAr=
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[P.T.O.



16.

17.

18.

According to Adler, first borns,
compared to later borns, are

usually :

(A) More rebellious and impulsive
(B) Less open to new experiences
(C) More self-conscious

(D) Less successful

The well known Stanford prison

experiment was done by ................. .
(A) Kurt Lewin

(B) Norman Triplett

(C) Leon Festinger

(D) Philip Zimbardo

factors/variables

influence the eye witness

identification in conditions where

the event was actually witnessed.
(A) System

(B) Confounding

(C) Estimator

(D) Misleading

16.

17.

18.
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ST AAER, T STcied e
ot Al G SO et & S
(A) 3Tfeen JEER ST JEATERT STEA
(B) e STg¥erel St FHTOM Ferdom
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(D) 7Y IEE! STHAM

Sfeg T T WA i
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(A) 2 wfed

(B) i fowie

(C) fasth ®HeisR
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dJo=T Tcgarelt fcsEiel Bl Skl
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19.

20.

Match List I with List II and select
the correct answer using the codes
given below :

List I
(@) Hypothalamus
(b) Lateral hypothalamic damage

(¢) Ventromedial hypothalamic
damage

(d) Changes in levels of Glucose
List II
(1) Causes extreme over-eating

(2) Responsible for monitoring food
intake

(3) Regulate feeling of hunger

(4) Leads to refusal of food and
starvation

Codes :
(@ b)) () (@
A @ S @2 @
B G @ @O @
< @2 @ @O B
D 2 @O @ O3
Agnosia is an inability to :
(A) Remember words
(B) Recognize objects
(C) Localize sound

(D) Maintain balance

19.

20.
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a1t 1 o7ifor = 11 ==t eauit . gei
Hehdral I hed PTG I T :

EIC |
(@) SAUTAAIEIR
(b) IS FETIAANTS ]
(c) I[MAA HLAH SFHTIATETE FHI
(d) IHTA U agd
et 11

(1) 2Afq @& o w0l hHIo

(2) A YA TUddEIS SR

(3) &= WA e

(4) SUTST RO 3T STl ThR UaH
ElEI

m M

(@ ®) () ()
A @ 3 @ @
B 3 @ 1 @
<€ 2 @ @O 3
D 2 1 @ 3
I WU B wEE A
(A) V&% AE @I
(B) a&
(C) sars=t fegm ooy
(D) T |30
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21. Match column I and column II by

using the codes given below :

(@)
)
(c)
(d)

(1

(2)

3)

(4)

Column I

(Virtues)
Courage
Wisdom and knowledge
Temperance
Transcendence

Column II

(Meaning)
Appreciation of beauty and

excellence, gratitude, hope and
religiosity/spirituality
Forgiveness, modesty, prudence
and self-regulation

Authenticity,

persistence and zest

bravery,

Creativity, curiosity, open-
mindedness, love of learning

and perspective

Codes :

A) @
(B) 3)
C) @
D) @)

(@) (®)
(2)
(4)
(3)

3)

(c)
(3)
2)
2)
1)

(d)
(4)
(1)
(1)
(4)

JUN - 13220/I1—A

21. WY I 30for Wy I IWeid Sean e

9 EId Hehdloh=AT STER W .

(@)
®)
(c)
d)

(1)

2)
3)
4)

w1
(Ten)
3t
TIRIUTAUT S0
TN
STl eReh
w11
(3rd)

Hied o Ireaq=il shel, FHazdl, ST
aTfor forieggl/steanferend

AR, FWId, TaeN o W
AT, 3, Faerer emfor Scame

TeteTterar, ST, Hihesdn TN

Wox, eI WH i 9iged

- -
.
-

A) )
B) 3)
C) @
D) (2)

(@) (b)

(2)

(c)
3)

(d)
4)
(4)
3)

(2)
(2)

(1)
(1)
3)

1 @

10



22. Match column I and column IT using

23.

the codes given below :
Column I
(Theorists)

Rollo May

Viktor Frankel

Carl Rogers

(a)
(b)
()
(d) John Dewey
Column II
(Concepts)
(1)
(2)
3)
(4) Existential analysis
Codes :
(a)
(A) 3)
(B) 4)
o @ 2 8 @
M 2 & 1) @

Which of the following statement/s
is/are true about the item
analysis ?

Positive self regard
Reflex arc

Existence stages

)
(4)
3)

(c)
(1)
(2)

(d)
(2)
(1)

(I) It involves qualitative analysis
of test items

(IT) It improves the validity of the
test.

Codes :

(A) (I) only

(B) (II) only

(C) Both (I) and (II)
(D) Neither (I) nor (II)
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992. el feciean Hehardl SUIN e &Y

23.

I o7for &9 II =r=n e o ¢
| 1
(frgiaern)
(@) T ¥
(b) faRT haa
() =T sl
(d) S g
Wy II
(Feheu)
(1) HhIIcHS TR
(2) wfdga =mg
(3) e staren
(4) sfqEaet fagerso
e
(@)
A) (3)
(B) 4
© o 2@ B @
D 2 B 1 @
faum faversonfas=t shrowd/d ame/ae
T ARd ?
(I) e foerre Tomeaes fogetoor gd.
(I) ® =m=oi=l Jud dmefad.
Tehdiah :
(A) e (I)
(B) e (II)
(C) (I) emfor (1) 3=t

D) (1) st (II) et Aer

)
4)
3)

(c)
1)
(2)

(d)
(2)
(1)

11
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24. Neurofibrillary tangles and plaques

25.

26.

27.

are seen in brain scans of patients
with :

(A) Traumatic brain injury

(B) Temporal lobe epilepsy

(C) Alzheimer’s disease

(D) Meningitis

When both horizontal lines are of
the same length and have the same
visual angle, but on the top appear
longer. What is this illusion
called ?

(A) Muller-Lyer illusion

(B) Ponzo illusion

(C) Visual illusion

(D) Depth illusion

According to law reaction

time in task is linearly related to the
amount of information transmitted.
(A) Donders

(B) Hick-Hyman

(C) Posner-Mitchell

(D) Matters-Millers

Which approach to personality see
personality as something which is
measurable ?

(1) Ideographic

(2) Nomothetic

(3) Social-radical

Codes :

(A) (1) is correct

(B) (1) and (2) are correct

(C) (2) and (3) are correct

(D) (2) is correct

24.

25.

26.

27.

JUN - 13220/I1—A

JreTeTAEl A F W § gdl Uviee
g WhI9e Sfewdd :

(A) TS Mol STed

(B) HYTE SAIEHR

(C) STegmam R I

(D) HI&TshTeROT TN
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(A) BIR-ARR 9

(B) dr=i 9

(C) 3w v
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..................... TS S -
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Hafd ST

(A) sf=d

(B) fesh-femm

(C) dfTR-fag=a

(D) Hed-fHer

Tl AT HIUAT gieeehd &
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(1) =Tl dme
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(3) ISR -t
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(D) (2) s R
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28.

29.

30.

Which of the following is not a

subtest by Guilford’s to measure of

Divergent Thinking ?

(A) Symbol Coding

(B) Consequences

(C) Plot Titles

(D) Alternate Uses

Which of the following statements

is not correct ?

(A) Evolutionary perspective
focuses on evolved adaptations
that helped our ancestors
survive and reproduce

(B) Socio-cultural perspective
focuses on how behaviour is
influenced by group level factors
such as social class and
nationality.

(C) Socio-cognitive perspective

focuses on past experiences

with direct and indirect rewards

and punishments.

(D) Psychoanalytic perspective

focuses on interactions among

three component parts of mind

As people are studied repeatedly as

they grow older. This approach of

studies is called as .................... .

(A) Cross-sectional

(B) Longitudinal

(C) Cohort

(D) Sequential

28.

29.

30.
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(B)
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31.

32.

33.

Positive affectivity and Negative
affectivity schedule is standardized
by :

(A) Watson, Clark and Tellegen
(B) Weston, Collins and Twenge
(C) Tellegen, Weston and Clark
(D) Willson, Clark and Tellegen
Out of the following which one is not
a part of Ashtanga-Yoga ?

(A) Yama

(B) Niyama

(C) Dhouti

(D) Pranayama

As a measure of item difficulty
P = 0.15 would indicate that :
(A) The item is relatively difficult
compared to an average

(B) The item is relatively simple
compared to an average

()

The item is erroneous

(D) The item needs to be deleted

31.

32.

33.
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(A) =

(B) f=m

(C) et

(D) 9T

faend wifsvauraai= A9 FRU[A

P = 0.15 <¥fad =t

(A) TE=A gora fau et oTe

(B) TGl qoMd faum 9@ omg

(C) faum == oM

(D) faum =r=viiqd ST TS 31"
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34. Match List I with List I and select
the correct answer using the codes
given below :

List I

(Traditional Terms)
(@) Telencephalon
(b) Diencephalon
(¢) Mesencephalon
(d) Metencephalon

List II
(Structures)
(1) Cerebellum
(2) Tectum
(3) Cerebral cortex
(4) Thalamus
Codes :

(@ b)) () (@@
A O 2 B @
B 3 @ @ @
< @ @O 2 3
D 2 & 1 @

EaCUCIIECENE TU
et 1
(Ul Ha)

(@) TATEHEAA

JUN - 13220/1I—A

34. It 1 2nfor It II Hefied Sireen .
et feetedn Gehardn SYAnT e sier

(b) SHEHAHREAHA

(c) TEEHAA
(d) HAAHEAN

(1) yHfETSh

(2) ==

(8) YHUR<Sh dedeh

(4) IdLIR

K3 K3
-
.

(a)
A) (D
B) 3)
©) @

D) (2)

)
(2)
4)
(1)
3)

(c)
3)
(2)
(2)
(1

(d)
4)
(1)
3)
(4)

15
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35. Match the following concepts with

functions :

(@)
)
(c)
d)

(1

(2)

3)

4)

List I
(Concepts)
The trichromatic theory
The opponent-process theory
Retinal disparity
Convergence
List II
(Functions)
The slight difference in lateral
separation between two object
as seen by the left eye and right
eye.
The turning inward of the eyes
which occurs when they focus
on a nearby object.
Second state of colour
processing.

First level of processing which

occurs in the retina of the eye.

Codes :

A) )
(B) 4)
©) @)
D) )

(@) (B)
(2)
3)
(1)

(4)

(c)
3)
(1)
4)
(2)

(d)
4)
(2)
3)
(1)

JUN - 13220/I1—A

35. @@ 1 (Fheo) o7for At 11 (hrd)
I Sedl A@l 9 Jerd HehdlhrAl
YR IW & :

(@)
®)
(c)
(d)

(1)

(2)

3)
(4)

arer 1
(Tehed )
i fagia
fatreh-vfsran fagra

A STHHTT

Ao
I |

()

S agAHe U o tentoTdie
forfad w1 e sTfor Sste
Sles=l Tfgedl STl

€l ATl SIS[H Sesdld Siegl 3Tl
ST ST S A& hisd
L

T gfraet O STawe.

Y el Ufshal Sit Slcdare
TIISATd TS,

- -
-
-

A @
(B) 4)
(C) @)
D) 3)

(@) (®)
(2)
3)
(1)

(4)

(c)
3)
(1)
(4)

(2)

(d)
(4)
(2)
3)

(1)

16



36. Match List I with List I and select
the correct answer using the codes
given below :

List I
(Theorists)
(@) Jung
(b) Adler
(¢c) Horney
(d) Erikson
List II
(Concepts)
(1) Hypercompetitiveness
(2) Epigenetic principle
(3) Archetypes
(4) Social interest
Codes :

(@ b)) () (@@
A @O G @ @
B @ @O & @
< @ 3 @ @
D B3 @ Q) @

JUN - 13220/1I—A

36. @l I for aEl 11 areier sireen e
9 YA GehdlheAl MER SW =l ¢

RICUN |
(Fagiaer)

(@ I

(b) 3SR
(¢) ®
(d) TR

(1) Afeeaet
(2) AR T
(3) emfeEy
(4) 9HISeR  SATTEs]
Hehdich :
(@ B () (@@

@a O & @ @
B 2@ O B @
© @ & @2 @
D B @ @O @

17
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37.

38.

Collins
Quillian’s network
model found that
to take
longer to verify “A

Assertion A) : and

people

shark is an animal”

than “A shark is a

fish.”
Reason (R) : According to
hierarchically
closer super-
ordinate category
are easy to recall
than remote super-

ordinate category.

Codes :
(A) Both (A) and (R) are true, but
(R) is not the correct

explanation of (A)

Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
Which model that
aggression is triggered by a wide

(B)

suggests

range of input variables that
influence arousal, affective stages
and cognitions ?

(A) General aggression model

(B) Drive model

(C) Frustration aggression model

(D) Provocation model

37.

38.

JUN - 13220/1I—A
faa™ (A) :wifa enfor faafaaa

AT Aedsh Hige 9
T U9 sme’’ Uam ‘v
9ol R’ § wegrud
HIUITHTST Aferd e
AT

sIfargoiiganr Sas=a
qsiifede gui= =
FaAfede Jvien TR
HO HY 3TE.

i uT (R) ¢

S
(A) (A) 9 (R) 9 sReR 334, W
R) T (A) o 3Tk TICIRI AR

(B) (A) @ (R) T=I IR 3Ted, 30T
(R) & (A) = 3TIH TTLHI 3T

(C) (A) & =R TR, Wg (R) ¥ I
3

D) (A) T IF 3R, WG (R) T TR
3y

fafay gerr=t afteed =r=n aftomg SeRo,
qfeh TH 9 SNYAER 8ial, STehHehdael
TR AT, S HI0d Fiaed HqTd 2

(A) 9ME= AThHehal 9fded

(B) WG Wia&y
(C) dhcI-3THAu Ffaey
(D) TauEeh yfaey

18
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39. Match the following List I | 39. I I (Sifesh srareem) o 7wt I1 (1)
(Eevelopmental Stages) with List 1T ;?»_;;}’1 el 'i‘m@” FeIel SAT= A
(Age) o @ I

N (St srareen)
(Developmental Stages)
. (@ Yo ST
(@) Early childhood
(b) TEA dTcIEEA
(b) Middle childhood
(c) 3R HHNTEA
(¢c) Late adolescence
(d) HHREE
(d) Adolescent a0
List 1I
(CR))
(Age)
(1) 12-18 &
(1) 12-18 years -
(2) 16-18 years @) 16_12@
(38) 5-12 years ®) 5-12@3?
(4) 1-3 years (L%) %_3
Codes : :
@ & © @ (@ ®) () ()
A @ 3 @ @ A @ 3 @ @
D) 1) 2 Q) @ D 1 @ B3 @

40. Which is odd among the following | 40. TSTIR! |3 Weiletish! o fao=

for HIV ? e ?
(A) Use of same syringe (A) IREATE SERTET ITAN HI0|
(B) Blood transfusion (B) & H&HU
(C) Sharing drinking water (C) favaren qooams S8R S
(D) Feeding mothers D) S ——
19 [P.T.O.



41.

42.

43.

Which among the following schools
emphasized on Introspection as a
method of study ?

(A) Gestalt

(B) Structuralism

(C) Humanistic

(D) Existential

Which of the following is a correct
about assumption of homogeneity of
variance in ¢-test ?

(A) Sample variances of both
groups are equal

(B) Population variance is normally
distributed

(C) Sample variances are equal to
population variances

(D) Population variances of both
groups are equal

When the rater knows student’s
standing on an aptitude test and he
is asked to rate the student, then this
is considered as an example of :
(A) Cross validation

(B) Criterion contamination

(C) Criterion validity
(D) Face validity

41.

42.

43.

JUN - 13220/I1—A
AqHaerT g sTeIHUgd AR 3Td

G I foaRyamE™ SR <A
ifaer ?

(A) G

(B) HEAER

(C) HIerdreat

(D) eARIrER!

-2 wefte faaaarsE
TEIqehT=AT e JIeTuehl Shivrd aIeR

A ?
(A)

LSRR

(aY

1T e THAT foee 9Rel 3.

AR Ee faerem & 9= faawon sk
T 3R,

T for=rer smfon deheen fo=em
A TR

Sl e dlhaEd fagdd 9@
TR

Siegl U= 0= Hei4 faeneai
AT T T HIfed 3T9d
3o ey M famneats farmdn

qeYEd U oA o Hishae 319
Rodid e

(A) fode Fenefiento
(B) Tehe Teeitehtm
(C) Trm® Fenedan
(D) HE@&a JArefdl

(B)

(&)

(D)

20



44.

45.

46.

Lumber punctures can be used to
diagnose :

(1)
(2)
3)
(4)
(A)
(B)
(©)
(D)

Unmyelinated intervals on axons

Bacterial meningitis

Viral infections

Brain abcess and tumor
Multiple sclerosis

Only (1) and (2) are true
Only (2) and (3) are true
Only (2), (3) and (4) are true
Only (1), (2), (3) and (4) are true

are called :

(A) Myelin gap

(B) Nodes of Ranvier

(C) Schwann cells

(D) Axonal void

The feeling of being aware of
knowing something and being

confident that will be remembered,

44.

45.

46.

JUN - 13220/1I—A

HfesemE & MEH™E e K

faWa

(1) <
2)
3)
4)
(A)
(B)
(®))
D)

el Affsafeq

RIAA  FherdT=4

HEA T I SR

Hice el eI

TRl (1) ST (2) SReR 2T
e (2) ST (3) SeR 3’
HeRT (2), (3) AU (4) SRS 3T
e (1), (2), (3) ST (4) SR 3TQ

3T&Iq T HREIfe e fa9RTET 318
Haeaa

(A) wEfer Ta

(B) Aiey 3% TR

(C) war il

(D) TR =3

TR Afecdt STHUAT Srofier STEoy Sifor

T MBI SEd ATl STHfaa STHal.

but wunable to retrieve the T e < Hifed I T R o
information at that point in time. I oI 3 TUEI.
This henomenon is called

eop ' (A) @& gHu
(A) Suppression (B) 3@y gHOT
(B) Repression (©) fog-sifp-am
(C) Tip-of-tongue
(D) Interference (D) =aTd

21 [P.T.O.



47.

48.

Which of the following is not a

property of language ?

(A) Regularly structured

(B) Generative, productive

(C) Highly derivative

(D) Dynamic

Choose the correct alternative from

the following about Assertion and

Reasoning ?

Assertion (A) : Trivialization is a

method of
managing disso-
nance

Reason (R) : Attributes and

behaviours which

are not important

thus

are not

consistent.
Codes :
(A) Both (A) and (R) are true and
(A) is the correct explanation.
(B) (A) is true and (R) is false
(C) (A) is false but (R) is true
(D) Both (A) and (R) are false

47.

48.

JUN - 13220/I1—A

JEedeh] IV AT o AT ?

(A) Frafaquer wxfed

(B) 3cUIG&H, 3cdlqh

(C) oTd Fea=al
(D) TIfaeha

&ISTISel STa SUsfFafas @refa

T ST qAEET A &

faam (A) : ook TSt fora Susfea
HRCACEEIHERRCI Lk
A TGl 3R

HRUT (R) : TUIfaeisr onfor adq ©
Hewer &l T o GHTd
et

PO
(A) =Rl (A) TfT (R) |t 3Tred 1for
(A) T 3T TR 3

(B) (A) § 97 3} o701 (R) § 316
3T

(C) (A) ¥ o9 o1 Wy (R) 3 WA
EIE

(D) (A) &nfor (R) € SIEIE! 318cd e

22



49.

50.

Somatic and visceral changes occur
when an emotional stimulus is
perceived is proposed by ..................
theory.

(A) Arousal

(B) James-Lange

(C) Schachter’s self-attribution
(D) Cannon-Bard

When distribution of income
consumption or expenditure taken
in relative terms with poverty, it is
known as .......c.c.ceeeeeee. .

(A) Absolute poverty

(B) Relative poverty

(C) Low line of poverty

(D) High line poverty

49.

50.

JUN - 13220/1I—A

Siegl Wrefeh SfEUshre Hoed Bid gl

HIfaeh 3T SRR Sgel TS I, ST

fagia weaifad o1,
(A) SR

(B) -

(C) meRT= Fo-fosioe

(D) HTA-d1S

ST EATaa=a1 |98l YA Sogl

I 399 foRam @ faawor Sde
Sl de’l o
SiGH

(A) TUe <iisH
(B) wmuer iy

(C) et =1 Tom

(D) <IREa=T =9 T

51. A person with moderate mental | 51. He *-iqg&”l ENIE] gl,rosilulich 2l
retardation has an IQ in the M EA
following range : (A) 70-90
(A) 7050 (B) 35-50
(B) 35-50
(C) 60-70
(C) 60-70
(D) 20-35 (D) 20-35
23 [P.T.O.



52.

53.

The term psychoneuroimmunology

is associated with which of the

following ?

(A) The relations between
psychological factors, brain and
immune system

(B) The relations between lympho-
neuro-endocrine

(C) The relations between
endorphins, sex hormones and
growth hormone

(D) The relations between serotonin
and endorphins

According to Buddhist teachings

‘NIRVANA’ represents an escape

from wheel of life and death, which

is a doctrine carried over from :

(A) Judaism

(B) Hinduism

(C) Sufism

(D) Jainism

52.

53.

JUN - 13220/I1—A
TSI T &TIRIE €S-l Seiietieh!
v e wRedid e ?
(A) AFFTeh w2k, Hg oo gfasrar-

Tgdmeid dee

(B) AfEehI-HSIIq—STasmeaeie Fae

(C) Ueifwa, fem v enfor g
TFREwEia oY

D) Fufaa enfor Teifeaacid
e

Sig fepeniigeR,  fafn’ wor geg snfor

STTE=hTaTgA gehl, & qeagua!

BT et e ?
(A) =gl &

(B) feg

(C) gwiER

(D) e
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54¢. WAIS-IV  (India) is mainly | 54 WAIS-IV (India) & ===
characterized by the following index/ Wrelieienl o feeme & afyme

indices : Aed 2

() Full scale 1Q (D qoi-=rEe 1Q

(IT) Verbal Intelligence Quotient (I) ¥nfesh FfgHT Tomeh

(IITI) Performance Reasoning Index (IIT) Sl AeherarHar Tomeh

(A) (D only (A) % (D)

(B) (II) only (B) %ed (IT)

(C) () and (II) only (C) (I) enfor (II) %

(D) ) and (III) only D) (1) awfor (II1) e

55. Which of the following alternatives 55. e (A) a1fon R (R) =1 faemidesta

is correct for the Assertion and gcsﬁlcflaqvﬁl I T AT R

Reasoning statements ?

Assertion (A) : DIQs as measure of faem @A) - Jlere A = DIQ
intelligence are o 1QA e Tl el
preferred over 1Qs. SiGH

Reason (R) : To overcome the FTOT (R) : 1Q =T W ZoTioT
decimal fractions in . N

3TqUlsh ZestIEEl DIQ
IQ values DIQs are .

I dMIY <hedl STl
used.

Codes : Wehdich :

(A) ;Ai i(; )tl‘“ue a::ntclll (R) is altso true, (A) (A) T T 70 (R) & T &%,

u is not the correct reason .
R (R) T (A) o IMg SR AT
of (A)
(B) (A) is true and (R) is also true, (B) (A) HH 3118 701 (R) & ¥ R,
and (R) is the correct reason T (R) § (A) @ I R0 AR
f (A).
O(_) _ (C) (A) 319 2R 37T (R) & oM
(C) (A) is false and (R) is true
(D) (A) is true and (R) is false (D) (A) ¥ 3T AT (R) 76 M8
25 [P.T.O.



56.

57.

Match List I with List IT and select
the correct answer using the codes
given below :
List I
(Brain area)
(@) Broca area
)
(c)
(d)

Wernicke area

PFC

Primary motor cortex

List II

(Function)

(1) Non-reflexive movement

(2)

3)

(4)

Codes :
(@)

(A) (2)

(B) (1)

e 3 1 @ @

O @ 2 @O 3

Good recall of items of the beginning

of the list is referred to as the

Speech production
Planning and organization

Speech comprehension

(b)
(4)
(4)

(c)
3)
3)

(d)
(1)
(2)

(A) Recency effect
(B) Primacy effect
(C) Primary recall
(D) Recognition

56.

57.
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It 1 emfor =t 11 gefted S &,

el fedtedn Hehdiehr=l ST hEd
e STl fae &

R |
(Hgen faumm)
(@) SRt faum
(b) afe faum
(¢ dhTHE.
(d) W HRE oedsh
Tt 11
()
(1) wfqeaeAfaRad g
(2) =r=n g/
(3) TAS 9 HuA
(4) dr=n 3Ahad
Hehdich :
(@ b)) © @
A @@ @ @ @
B 1) @ G @
< 3 1 @ @
O @ 2 QO O
IIET ST FEATNeN ST T =
TS ST, el T I
UIdrd.
(A) Ry TRom
(B) i@ qfomH
(C) wiafHeh FeTaeH
(D) FeATT o=

26
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58. Spearman introduced the concept of 58, TTeieTiR) e FrieTes s

g and s factors to reason with which P . oo

Z :
of the following observations ? T HERTEl Heh el HIGT hel

(A) Heredity accounts for a (A) Sifgeh eTHamEy STHahad THToT

ignifi t ti f >

significant proportion o 0.

variance in the intellectual

ability (B) dfgHal S=UEAEld ®eAl Wi

(B) Raw scores on intelligence tests FATIR e
tend to increase with age

(C) Rearranging the order of the (C) =AUl ShAM GAHAMET e
tests along the edge of the Higerg=a shge < et * ueTgshA
matrix he always could get = 9 e
what he called a “hierarchy”

(D) Crystallized intelligence is (D) frEearse Ffgawn  IaEHt
immune to aging effects YHEMIA ol 3T R S fgH
whereas fluid intelligence I I
displays greater in stability

59. Wallas' Four Stage account of | 59. dTIcTd SR faerr=n IR =)ound
creative thinking consists of which A -
. dldlcedlenl bRl HHIARI 3:”% ?

of the following ?

(A) Inspiration, Research, . .

: . (A) UTON, NG, SATUO0, TIhIl
Incubation, Confirmation

(B) Preparation, Inspiration, .

_ o (B) @R, UXOM, SSHEA, USdlesui
Incubation, Verification
(C) Preparation, Incubation, .
L . (C) TIRI, SAdAQreor, YO, FSdresoit
Inspiration, Verification
(D) Inspiration, Verification, .
Incubation, Confirmation @) ’ ’ 3
27 [P.T.O.



60.

61.

Match List I with List IT and select
the correct answer using the codes
given below :
List I
(Concepts)
(@) Cognitive and physiological
aspects of behaviour
(b) Emotional stimulus visceral
and skeletal muscle changes
(¢) Stimuli, subcortical systems and
emotional experience
(d) Innate neural programme and
primary affect.
List II
(Theorists)
(1) Silvan Tomkin
(2)
3)
(4) Schachter and Singer
Codes :
(@)
A) (2)
(B) (4)
< 3 @ QO @
O 1 2 @ 3

Which among the following is

Cannon
James and Lange

(b)
(1)
3)

(c)
(3)
(2)

(d)
(4)
(1)

not a barrier in effective
communication ?

(A) Competing stimulus

(B) Snap reactions

(C) Correctness

(D) Group identification

60.

61.
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AT 1 S et 11 Jmeid Sirean A
9 Yeidl Hehdlehleal 3ER IW ;T ¢
et 1
(Hehea)
o= siufTen Ao e =2k
ikt

3STeh, SUYHIES gl SATHOT

etk STHa

3USTd ST REisRH ST grafdeh
o

IC |
(Tehear)

e 2afe

T

(3) Sw Tftr o

(4) wMERR owfor fETR

Hehdieh :
(@)

(A) (2)

(B) 4)

) 3 @ @O @

O 1 2 @ O

TROTH FUEUMG ! IOl STS el

MG AATE ?

(A) TuicHs IETH

(B) Siaig wfdfska

(C) Frgal

(D) T AIETHIR IO

(@)
)

(c)

(d)

(1)
(2)

(d)
4)
(1)

(®)
(1)
3)

(c)
3)
(2)

28
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62. HIV treatment at early stage is 62. WAHE STERITES AR ITAR 5
F e .

(A) ART (A4) T

(B) VRT (B) =l

(C) HRT (C) THRE

(D) TRT D) AT

63. Which of the following alternatives 63, ‘Fyur’ YT ‘TS’ T

is true for the statements of oo FIUE T W e 2

‘Assertion’ and ‘Reasoning’ ?

Assertion (A) : In a folie a deux, faem (A) : “wreft o1 S’ = faepda,
separating the TN AR HeHE
secondary case from TR oo she=rm,
the primary can i SRt e @
lead to symptom -
reduction in the HRU (R) : "Bl T T _i’r[ RIEIRED
secondary. SR SF ST TehTd

Reason (R) : Folie a deux is a JaA e, A T
mental illness et a7 = frera fome
shared by two .
persons, of which Hehdich :
one is “dominant” (A) (A) =Tfor (R) Srelal 9 3Ted
and symptomatic. amfor (R)  (A) Th TSI h L]

Codes : 3T

(A) (A) and (R) both are true and (B) (A) =TfT (R) SF@ 9 o7

(R) is the correct explanation ™I (R) ¥ (A) 3 3% ST
for (A) T
(B) (A) and (R) both are true but .
(R) is not the correct (©) (3?1%% e R WY B) ¥
explanation for (A)
(C) (A) is true but (R) is false D) (A) & A e R (R) T TA
(D) (A) is false but (R) is true e
29 [P.T.O.



64. What

65.

66.

is the meaning of

“Tasawwuf” ?

(A) Priesthood

(B) Islamism

(C) Suffism

(D) Humanism

In a research elimination of
alternative causes is an essential
feature. This elimination is achieved
only through ...................... method.
(A) Experimental

(B) Quasi experimental

(C) Exploratory

(D) Correlational

In an alternate form reliability in
delayed type, the source of error
variance would be :

(D
(II) Time sampling
Codes :

(A) (I) only

(B) (II) only

(C) Both (I) and (II)
(D) Neither (I) nor (II)

Content sampling

JUN - 13220/I1—A

64. TEIHA 3 HE MY 2

65.

66.

(A) EHiueeTH

(B) TEamHTE™

(C) gwrem

(D) W]

TN TR TR i hIvl ST

(D) HegaHcHeh

T ®9 faveaaa=n fadfad gehrd

AL TERUTE FTH WM T ST
(1) 3™ T

(I) 9#F T

Hehdieh :

A) ®F (D

(B) s (1)

(C) ek (I) ior (ID)

(D) (I) e7for (IT) <r=rel et

30



67.

68.

The circle of Willis :

(1) Allows cerebral redundancy

(2) Is formed by anterior branches
of internal carotid

(3) Is formed by anterior and
posterior communicating artery

(4) Is formed by posterior cerebral
branches of basilar artery.

Codes :

(A) (1) and (2) only

(B) (2) and (3) only

(C) (1), (3) and (4) only

(D) (1), (2), (3) and (4)

When learning takes place without

actual performance, it is called

(A) Latent Learning

(B) Learning distinction

(C) Observational learning

(D) Behavior notification

JUN - 13220/1I—A

67. Wha 3w fafaq :

(1) YufxTSh STHERIehdel YRaT <d.

o e

(2) 3AARer HATee=a1 37 Hicd™ daR
BId.

o N

(3) 3T 9 YT "YU LA daR

BId.

~

(4) G TAaTB=A 99 HicTH TR

Bld.
‘Fl@?-ﬁﬁ :
(A) ®E (1) T (2)

(B) %ad (2) AT (3)
(C) e (1), (3) =AfUT (4)
D) (1), (2), (3) =1 (4)

68. Sieal eI fedIREr Tgd Idl degl

(A) ga 3qee
(B) 31em9A 9
(C) TAOeromeHes 31

(D) @A afiere

31

[P.T.O.



69. According to Miller (1990) the two

70.

fundamental problems in speech
perception depending on context
are :

(A) Speech is continuous and a
single phoneme sounds
different.

(B) Speech is continuous and that
multiple phonemes sound the
same.
Speech is monotonous and that
multiple phonemes sound the
same.
Speech is monotonous and that
a single phoneme sounds
different.
Match List I with List IT and select
the correct answer using the codes
given below :
List I

(Concepts)
Oedipus
Mandela
Fictional Finalism
Crisis

()

(D)

(@)
)
(c)
(d)
List II
(Theories)
Analytical Psychology
Psychoanalysis
(3) Psychoanalytic Ego Psychology
(4) Individual Psychology
Codes :
(@)
(A @)
(B) (1)
(C) 2
D) @)

(1)
(2)

(b)
3)
3)
(1)
(1)

(c)
(2)
4)
3)
4)

(d)
(1)
(2)
4)
3)

69.
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e (1990) =1 Hd HIHUER o

TG T JAYd FEET JRITgHl

3Rd

(A) oo FRER 3T o7fon TR et foe
T .

(B) o fat o118 3717 3feh eaft e,
I

(C) YT TehaRE 3T M Teh &A1
Teh A

(D) oM THGH ST AT Tk &ait
i e

ISt T for A1t 11 Frefict Siesi o o
qelcl Hehdlehl=Al STMER ST T ¢

RICUN |

gfeud
(b) #HeSen
(¢) hfcqd aRguiar
(d) T
et 11

forgerororendt AFERE
HAIfITASUTES
(3) focvvEEl 318 AHHRIE
(4) KT HHAGITE
Tehdiah :

(@)
(A) (4)
B) (@)
©) 2)
D) 2)

(@)

(1)
(2)

(®)
3)
3)
(1)
(1)

(c)
(2)
4)
3)
4)

(d)
(1)
(2)
(4)
3)
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71.

72.

Match Column I and Column II
using the codes given below :
Column I
(Postulates of Field Theory)
(@)
(®)
(c) Life space
(d)

Topology

Valence

Vector
Column II
(Explanations)
(1)
(2)
3)

Psychological Field
Influencing force
Connectedness and part whole
relationship
(4)
Codes :
(a)
(A) 3)
(B) @)
)
(D) 4)

Attracting or repelling

®) (©
4) @
@ @
2 B @
1 @ @)

An anhedonic patient shows :

(d)
(2)
(2)

(A) Memory loss
(B) Fear of heights
(C) Inattention to detail

(D) Loss of interest and pleasure

71.
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et foetiedn Tehdishrel ST e WY
[ =for w9 11 el e e .

w1
(gnfta fagiare Teiadw)
(@) IHRITER
(b) IR
(c) Sfad 3TEm
(d) Hfee
wWy II
(TreETeRTu)
AR &5
gefiferd ShYum=AT SIekit
(3) STNQ:-THU HaY I TIaY
(4) YAl fher AW gefam
Hehdiah :
(@)
(A) 3)
(B) 4)

(1)
2)

b) (o
4 @
@ @
oo @2 6 @
D @ @D @ 3

TSl wummed § fos foua .
(A) wfayw

(B) ==t ot

(C) INHHS A

(D) sifye=t 9 e '™

(d)
(2)
(2)
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73.

74.

Match List I with List IT and select
the correct answer using the codes
given below :
List I
(Name of Syndrome)

(@) Clérembault’s syndrome

®)
(c)
(d)

Dhat syndrome
Capgras syndrome
Cotard syndrome
List II
(Description)
(1) Premature ejaculation and
impotence
Delusional belief that one is
dead

Erotomania

(2)

3)
4)
Codes :

(@)
A) 3)
(B) (2)
(C) 4)
D) 1)
Which

problem ?

Imposter syndrome

(b)
(1)
3)
(2)
4)

one

(c)
4)
(1)
3)
2)

18

(d)

(2)

(4)

(1)

(3)
not a social
(A) Government jobs

(B) Poverty

(C) Poor cleanliness

(D) Population
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It 1 3mfor =t 11 Jefred Siren aren ifir

el feedn Hehdishrl SYINT &
g IAUEl e w4 e

it 1
(HeTeTuTTel <Te)

RS FALT
(b) o FereTo
() HTH HeAeo
(d) PRIE FAL

Tt 11

(Fui)

I8 e d TgHehRl

(@)

(1)

(2) ST9U Hd A= 9H

(3) AR

(4) A HA

Hehdieh :
(@)

(A) (3)

B) (2)

©C @ 2 3 @

D 1 @ @ 3

WeAeTdeh! hIvd HHETTSR 999 A& ?

(A) IERE AR
(B) TRsd
(C) T ==

(D) <rhEE

(®)
(1)
3)

(c)
4)
(D

(d)
(2)
4)
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75.

76.

Given below are two statements,
labelled as Assertion (A), and a
Reason (R). Indicate your answer
from the alternatives given below :
Assertion (A) :Health of human
being is multi-
dimensional.
Health is a state of

complete physical,

Reason (R) :

mental and social
well-being and not
merely an absence
of disease.

Codes :

(A) (A) and (R) both are true and
(R) is the correct explanation
for (A).

(B) (A) and (R) both are true but
(R) s the
explanation for (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

In a standardized regression

not correct

analysis, the value of intercept
is :
(A)
(B)
C)
(D)

one
Zero
close to one

close to zero

75.
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et faeam (A) 7o shRor (R) 3191 e
TG o faum foeht o1mea. @l feeiesn

THEHYd gEe SW e

faam™ (A) : 9959 9T SR ®
T 3T
HROT (R) : TR T HYUia: TR,
qEfaes  STfor |rHTfeTeh
ERTCr= TErdt S shees
ST 3A9E 3/ &l
i
(A) (A) 3T (R) & Sl sRIsR 318 0T
(R) ¥ (A) = 99 TqLIHI 3R,

(B) (A) 3T (R) ¥ Il sRIeR 378 g
(R) ¥ (A) 9 Irg TqSieniul A&l

(C) (A) =R 38 g (R) & I 3T
(D) (A) T 3¢ g (R) § SR 3T

JIford FHTSEE faversomes, sTaiee™
a3
(A) T

(B) T[=
(C) T Sdx

(D) YA SFD
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77.

78.

79.

Group tests are characterized by :

(I) Multiple test administrators
administer the test at the same
time.

(IT) Administration of the test on
number of test-takers at the
same time.

(ITI) Availability of multiple copies of
the test.

Codes :

(A) (D only

(B) (II) only

(C) (I) and (II) only

(D) (D, dI) and (III)

MRI technique :

(1)

(2)

3)

Relies on hydrogen protons
Requires radioactive isotopes
Uses radio waves and magnetic
fields

Provides clearer images than
CT.

Codes :

(A) (1) and (2) only

(B) (1) and (4) only

(C) (1), (2) and 3 only

(D) (1), (3) and (4) only

Gordon Logan and Joseph Etherton
proposed .........ccccunnen. .

(A) The phenomenon of attentional
capture

Theory of future integration
Attentional hypothesis of
automatization

Automatic processing

(4)

(B)
(&)

(D)

77.
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79.
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T FEUAE IR S SEA
(D

TehTa Al fafdel ar=oiysTdes
Teh{Sqq0l =T=on <drd.

(IT) T é‘\a”r ﬁ@%ﬁ EIEMIPNIEED
Ueh [AdYYT HIHU[IE] Sl qdld.
(1) T FM=0=A 3% Tdl 3T

ST
Hehdich :
(A) w (D)
(B) % (ID)
(C) e (I) erfor (1)
D) (D), (IT) sufor (III)
TH.SR.3E. 95l

(1) TISSH TR SAgafed 3T

(2) %ﬁﬁﬁmamsﬁﬁﬁw

(3) e ot 9 ok & AT
4) g;r{.?ﬂ. eIl T YIaHT TSI hed

i
(A) Had (1) =TT (2)

(B) W (1) 37T (4)

(C) W (1), (2) U7 (3)

D) ®F (1), (3) 37T (4)

e e ST 9% $eReH I

EoieTieh! hIOM]  SIEA1/YTed  J&arferd

Helt ?

(A) Tehigd Ul B
(B) Hfesg Temsiieheur fogid
(C) @It Aau™ TEiash

(D) wWEEfdad gfsra
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80.

81.

Which of the following should
be explained by ‘Theories of
meaning’ ?

(1)
(2)
3)
(4) Entailment

Codes :

(A) (1) and (2) only

(B) (1) and (3) only

(C) (1), (2) and (3) only

D) (1), (2), (3) and (4) only
Which among the following will not
group

Anomaly
Self-contradiction
Ambiguity

increase an individuals
confirming behaviour ?

(1)
(2)
3)

Smaller group size.

Feelings of insecurity.

When groups cannot observe
individual’s behaviour.
Codes :

(A) Only (1)

(B) Only (2)

(C) Only (3)

(D) Both (1) and (3)

80.
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* sreqte TagTar=’ gR Eeletdeh! o
T el qifes 2
(1) forgdt
(2) @A
(3) e
(4) AFETE TIHM
Hehdich :
(A) el (1) 3o (2)
(B) ®aa (1) 37fur (3)
(C) &K (1), (2) =7fo1 (3)
(D) ®K (1), (2), (3) (0T (4)
TTeATeTeh! IV Teh TITSe. ekl THE

qsiode dTedid A 2

(1) HHE™l @M AR

(2) STgIEIa= e

(3) SioRl WHE SHKIH o RI&T0T il
ATEl.

Hehdieh :

(A) ®F (1)

(B) % (2)

(C) % (3)

(D) (1) 37T (3) SI=r

82. Ontology refers to :
(A) Understand the nature of | 82. WEaHRTSTA Ieci@ AWE R :
soclety (A) T9S @HE FHSTO
(B) Understand the nature of
community (B) 9HSH™ TWHE GHSUI
(C) Understand the nature of (C) fova @9E TS
universe
(D) Understand the nature of being (D) AR T qw
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83.

84.

85.

Festivals are examples of :
(A) Enthusiastic Behaviour
(B) Cultural cycle
(C) Social norms
(D) Social values
Match the List I (theories) with List
IT (theorists) :

List I

(Theories)

(@) Disengagement theory
®)
(c)
(d)

Activity theory
Age stratification theory
Person-Environment fit theory
List II
(Theorists)
Lawton
Riley

Cumming and Henry

(1)
(2)
3)
(4) Havighurst and Neugarten
Codes :
(@)
(A) 3)
(B) (4)
<o @O @2 @ B
D 2 & @O @
...................... is the philosophical

(b)
(4)
(1)

(c)
(2)
3)

(d)
(1)
(2)

study of being.
(A) Philosophy
(B) Ontology

(C) Etymology
(D) Spirituality

84.

85.
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(B) WiEhids weATa®

(C) gmHTSIeh ™y
(D) 9IS qed
I I (FagTa) 3 A=t 11 (IS Sesad

@l feoicd Hehdiehldidd STl

R
(fagta)
(@) T fagid
(b) fowamfea fagma
() o9 e fagid
(d) FFN-TaERe gara faga
rer 11
(frgiaanm)
(1) dred
2) R«
(3) wET emfor &
(4) TANEE ST FReA
Tehdiah :
(@)
A) 3)
(B) 4)
©) (D
D) (2)

®) (o)
2)
3)
4) 3)
1 @

RSl RIGISEED

(d)
(1)
(2)

(A) T
(B) SaEaLemE

(C) Hcqf<emed
(D) sTeATfcHehdl
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86.

Read the following paragraph and
answer the six questions (86 to 91)
that follow :

A researcher has data (sample n = 500)
on eight personality variables i.e.
Activity, Sociability, Talkativeness,
Warmth, Anxiety, Worry, Anger,
and Depression. The correlation
matrix was evaluated for
factorability by Bartlett’s Test of
Sphericity (p < .001) and KMO = .86.
The eigenvalues were 3.2, 2.4, 0.54,
0.42, 0.41, 0.39, 0.37 and 0.27. She
used principal component analysis
instead of PAF. Using Guttman and
Scree criteria retained factors. The

varimax and promax rotations were
used.

The PCA shall :

(A)
(B)

result in oblique factors.

be second best to PAF in
extracting variance.

(C) account for less than 100%
variance in full solution.

(D)

result in general factor.

86.
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g3l Uii=se dr= S0 SelTe! shoted

T YT (86 I 91) S+

TNesihe fwafiaar, qmrfsed,

Tfogsean, fasica, fordn, wTegstt, T oo

LA 1 IS AfraHd IREdehie Fer
TSA (A n = 500) 3T deiecies
TWRAR= 9= (p < .001) SO

KMO = .86 R 5 fIveiuue qeaey

HfesRTa Feaehd el Tl TS § 3.2,

2.4, 0.54, 0.42, 0.41, 0.39, 0.37 3Tfu0r

0.27 Bd. faq duuwiss &g w2
foreerom AT, qEAA ST Wi FeRer=T

IR e H2eh TEAT acl. RUHT

ST W =shadd ol e,
qed wew fagamm ©

(A) o wesw <2d

(B) foaem Tosdieiuna fuuwen O

TAH 9T 3R

YU IHaHE 100% U&T AT
foaa et T Hd

T EA TEh A

()

(D)
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87.

88.

89.

90.

What is the percentage of variance
first unrotated PCA shall explain ?
(A) 10%

(B) 12.5%

(C) 32%

(D) 40%

Which of the following is correct
about KMO value ?

(A)
(B)

It is low since it is below one.
It is low since it (1 — KMO) is
close to zero.

(C) KMO uses correlations and
partial correlations

(D) No conclusion is possible since
P-value not given.

How many factors can be retained
for rotation using Guttman and
Scree criteria ?

(A) One

(B) Two

(C) Six

(D) Insufficient information

The varimax rotation shall result in :
(A) factors useful for higher order
factor analysis

(B) identical pattern and structure
matrix

(C) different pattern and structure
matrix

(D) phi matrix that departs from

identity matrix

87.

88.

89.

90.
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T ST-Tghdfad e fondt fomem v
Tl e ?
(A) 10%
B) 12.5%
(C) 32%
(D) 40%
HUHsT JeAaEd Weeden! v aeR
R ?
(A) ;‘r]% T HH AHCAHS d HHAT

(B) @ & 3 RO (1-HTH)

ST ST
(C) Uy gy i AifYTeh Tege
RG]

(D) 9-9c TSl T9e™ hivrdal Fehs
Y AL

TEHA AU Thi AMCSTE dTR HE
JHhadaTgISt frdl ®ew 39d TS

(A) TH

(B) 39

(C) w=

(D) gl Hifed

R HeFH Ssharrel GRUMH ®UE

(A) F=9 AT T ToPeIvuTHE! S
EEED

(B) THERE Ued oAU T Hicad

(C) Tv= ded oftr e Hfead

(D) & A 3 sTrefee] ARy
ERCE
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91.

92.

93.

94.

Bartlett’s Test of Sphericity results
indicate that correlation matrix of :
(A) population is not identity
matrix.

(B)
(®);
(D)

Interscorer reliability is best suited

population is identity matrix.
sample is not identity matrix.

sample is identity matrix.

for the study of ............... type of tests.
(A) Achievement

(B) Projective

(C) Ability

(D) Adjustment inventories
The RAS is responsible for :
(1) Arousal

(2) Wakefulness

(3) Facial expressions

(4) Selective attention

Codes :

(A) (1) and (2) only

(B) (3) and (4) only

(C) (2), (3) and (4) only

(D) (1), (2) and (4) only

Model of letter and word perception
is given by ......cccccuuneee.

(A) McClelland and Rumelhalt
(B) Reicher and Bobbin

(C) James Gibson

(D) Kozlowski and Cutting

91.
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SRR ThRE R = =iy gied e
S TeUeY 9RO ® :

(A) hEET AT S TN AT
(B) IhdEdd SAES(ed UROM 3T®

(C) T=ma STFSfel |ROM ARl
(D) T=A AFESfE TR 3.

O SO T I THE T TR
E%W——ﬁam T AFUATAT ST A
(A) HURA

(B) W&qol

(C) &Ha

(D) THESH =

FRCTY. TEE SeeRR T
(1) SR

(2) St

(3) el WEATE e

(4) dFHk ITEYH

Hehdieh :

(A) ® (1) AT (2)

(B) W (3) T (4)

(C) " (2), (3) =71 (4)

(D) we (1), (2) 3TfoT (4)

&Y SIfoT 3T WAGH YTEW HUA
med ?

(A) Hacfiels 7o EHETRGS
(B) TR sufor sifsi=

(C) = fireeH

(D) HrErcaEnt 7o e
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95.

96.

97.

Three main principles of association

according to Hume are :

(A) Contiguity, Differential
grouping, Familiarity

(B) Contiguity, Differential
grouping, Similarity

(C) Contiguity, Similarity,
Causation

(D) Continuity, Similarity,
Familiarity

Cyber bullying shows which of the
group dynamic behaviour ?

(A) Bystander effect

(B) Social Loafing

(C) Deindividuation

(D) Prosocial effect

What role do hormones play in
human sexual behaviour ?

(A) They affect men’s behaviour

more than women

(B) They can influence, but do not
determine human sexual
behaviour

()

The completely control human
sexual behaviour
(D)

They have almost no effect on

human sexual behaviour

95.
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98.

99.

100.

Which of the following is an

advantage of e-learning ?

(A) Learning opportunities in
remote areas

(B)

(®)

Easy to learn

Learn with learners own
convenience

(D) Education is delivered to their
computer

Alanon is a group intervention for
families of people with :

(A) Mental retardation

(B) Alcoholism

(C) Cancer

(D) Alzheimer’s disease

If KR-20 reliability of a test is found
to be low, then which of the following
could be the most important
reason ?

(A) Inadequate content sampling
(B) Poor interscorer agreement
(C) Higher difficulty level of the
items

(D) Test is lengthier

98.

99.

100.

JUN - 13220/11—A
WATAUeh! ShIvl Teh 3-{IT&I0= BT
A ?
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